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QUESTION 1

Which of the following does not represent a typical form of service contract standardization addressed by the
Standardized Service Contract principle? Select the correct answer. 

A. the standardization of a service\\'s functional expression 

B. the standardization of industry technologies across different service inventories 

C. the standardization of data models used by service contracts 

D. All of the above represent typical forms of standardization addressed by the Standardized Service Contract principle. 

Correct Answer: B 

 

QUESTION 2

Which of the following statements correctly explains the difference between the Service Abstraction and Service Loose
Coupling principles? Select the correct answer. 

A. Service Abstraction is focused on dependencies that exist between the service contract and its underlying logic,
whereas Service Loose Coupling is focused on fostering "loose state" in support of runtime state deferral 

B. Service Abstraction is focused on agnostic service logic only in order to establish an agnostic abstraction layer,
whereas Service Loose Coupling is focused on the relationship between the service contract and service consumers. 

C. Service Abstraction is focused on hiding information about service implementation details, whereas Service Loose
Coupling is focused on the positioning of the service contract in relation to the service implementation and service
consumers. 

D. There is no difference between these two principles. One principle name is used instead of the other depending on
whether you are building loose or tight service abstraction layers. 

Correct Answer: C 

 

QUESTION 3

A service-oriented solution can be comprised of which of the following core architectural elements? Select the correct
answer. 

A. messages 

B. services 

C. contracts 

D. All of the above. 

Correct Answer: B 
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QUESTION 4

The Service Composability principle is solely dedicated to making services effective composition controllers. Select the
correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

Service compositions can only be assembled from services that belong to the same service inventory. Select the correct
answer. 

A. True 

B. False 

Correct Answer: B 
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